YDID MYRI0'T YR ORI nyI2Y Noon MY AT TINHY Y opT

25.34
22b (28 mywn) 2 23b (8177 70191 YaWIY)

27 o7 DI 93 TR ‘N DR XYY TH7N 190? PR TIP3 NI9] TINY) TYPR 737 10Y0 DY DY 1307 I0 TR DIpRa PIOK N 192 098y 1

27 72701:99R9 N9 DWIN DNY DY) MY 8Y D11Y NTWN Y21 NRY Y 19Y pni 17 yon 1n 0w pm s

I 2x mwnrole of n»nw within rubric of n%x
a  If: he takes an oath Y218 ®Y® and eats and drinks — only liable once
b But if: he takes an oath NnWR 8YW Y218 RYW — and eats and drinks - liable twice
i Backdoor (5x%10): if he takes an oath against eating and drinks — liable
1 Argumentl: common language — people say “let’s taste something” and eat and drink
2 Argument2: scripture — v. 1, operating on the verb n%axy, includes w1v'n (wine)
(a) Challenge: perhaps that refers to wine mixed with a thickener — food (“n72r”)
(b) Rather: v. 2 includes 191 1 as “eating before 'n”
(i) Challenge: perhaps this is also R
(if) Answer: the use of 92w proves that it must be intoxicating
1. Challenge: perhaps it refers to thick figs (which are 19wn = 2»n for w1pn nxr»1)
2. Rather: the use of "3w” connects with 15w (v. 3) which is 1»
3 Support (837): from Rw» of our Nwn — since 1NV is included, Xin has to teach that there’s only 1 2vn
(a) But if: mnw was not included, no need to teach that there’s only one avn
(b) Challenge (»an): if so, why is he liable for 2 in Ra'0; 1’nw was already included in first part (5218 8%) and
the second statement (NNWR RY) is invalid as it is ny1awn Y NY12w
(i) Answer: order in R0 is reversed — should be nnwR RYW 12w and then 921 RHY
(if) Challenge: if so, let the Xw teach a bigger WITN — NNYWR RHVI H2IR RHYY NAW — only 27N once!
(c) Rather: we read the nmiwn as is (R970: NNYR ROVI HNR RHY)
(i) Explanation: once he says nnwr 85w, we see that Y218 meant only “eating”
4 Support (»wn 37): later mwn (see below) states 9218 XYW and then if he eats or drinks inedibles — 7108
(a) Implication: if he drank potables, would be liable, even though he only said 9218 RY®
(b) Rejection: may refer to a case where he said 9218 5w and ate or nnwr 5w and drank
I 2 mwn: single and multiple maw re: kinds of food
a  If: he took an oath 28 XYW and ate different kinds of bread — only liable once
b But if: he took an a1 nay YW N9y PON Na Y2IR RYW and ate all 3 types — liable 3 times
i Challenge: perhaps he listed these three to identify the exclusive focus of his oath
ii  Answer: if so, he would have said “wheat, barley and spelt”
1 block: may have meant to chew on grain, not bread
iii ~ Rather: would’ve said “pnoia Y1 01w YW pon na”
1  block: may have meant “wheat bread & chewing on no1 pon”
iv  Rather: if so, he would have said "nv13 Y01 PYY YW1 PON N KR RHV”,
1 block: may have meant “3-grain bread”
v Rather: he would’ve said “pno 5 121 p1pw Yv 191 Poon YV na Y218 RYY” ; the addition of na ,na > separate my1aw
II ’» mwn: single and multiple myaw re: kinds of drink
a  If: he took an oath not to drink and drank various drinks — liable once
b But if: he took an oath wam jpw > MNWR R5W and drank all 3 - liable thrice
i Challenge: above, we determined that the extra word na marked separate m»aw; what could he have said here?
1  Answer 1 (97): case where these drinks are in front of him, could’ve said o8n nnYR RYY
(a) Block: may have meant that he won’t drink from these specific glasses, but would have other wine etc.
(b) Rather: he could have said 198 113 TNYR ROV
(i) Block: that may have meant only drinks of this exact measure
(c) Rather: he could have said Y8 Pnn NNYR XYY
(i) Block: that may have meant “others like this”, but these aren’t banned
(d) Rather: he could have said 1»1m1 1Y% INYR RHY MYV
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2 Answer 2 (K’ “17 77772 KX 77): case is where he is being pressured to eat
(a) And: his friend is asking him to drink wine, oil and honey and he is refusing
(i) Therefore: he could have said “I refuse to drink these” by identifying them — separate myav
ii ~ Comparing separated mw1awwith parallel case in 77977 ny1aw:
1 Ruling: if he claimed 3 specific groups of items and the 1mv denied any liability — only 27n once
(a) But if: he explicated his denial to each of the three groups; separate liability (for m>1m nwr)
(i) v 77 if the entitre debt is 8" amassed — liable
(ii) Dispute 82227/8NK 77
1. One says: 131Ny "1 is only referring (re: 1x) to the xwM
a. Meaning: in the R2>0, there are 3 oaths (not a fourth, general one) —no g1y
2. Other says: 13nv " is also referring to the 9’0
a. And:the Rov includes a general oath, besides the 3 specifics
(iii) Question: would this dispute transfer to our case of 102 ny1awV?
1. Answer (»37): the two disanalagous:
a. In that case: if the explicated a general denial and then specified, each would be a a sepa-
rate, valid oath
i.  Reason: even if he repeated his denial as a second oath — o'nw a7n
b.  But here: if the first part of his statement is seen as an independent, general oath, the spe-
cifics are meaningless because of n»1awn %y nYn Y1V PR
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